96 G8 CH 12 WS 2 Exponents

Exponents: Worksheet -2

1) (13 + 23 + 33 + 43)-3/2 = [ ]
a) 10-3 b) 10-2 c) 104 d) 10-!

2) Vi3 < x5 377 [ |
o
76 78 79 7
a) x1° b) x1° c) x19 d) x15

3) I[f800=8x108xx3/2thenx=.............. [ ]

a) 102 b)103 c) 104 d) 105
1 1
1+xa&b 4, ,b-2a
ab ab
a X p) X2 o) 1 q X
5) If §/3/x2 =xx, then k= [ ]
a) 2/6 b) 6 ) 1/6 d) 7
6413 (6252
6 el VLo =
) [1sz +(256j 1 [ ]
269 269 8 8
) 80 b) 80 C) E d) "




96 G8 CH 12 WS 2 Exponents

8) Given that 4n+1 = 256. Find n [ ]

a) 2 b) 3 c) S d) 63
6,2
o YT [
3x°.y
a) 3x2 y2 b) 3= 3v c) 3x3y d) 6x3y

10) Which of the following not equal to y® [ ]

5 2
2) [y%} b) (\/76] gy a|ys

11) 83><2_1 [ ]
a) 4 b) 8 c) 16 d) 32

12) (ﬂjz s [ ]
9

a) ﬂ b) § c) —ﬂ d) _§
3 4 3 4
13) If m2 = (27)2/3 x (16)3/2 then m [ ]
a) b, ) 2 c) s d) e
4 16 8 4
-2
_ d3 i
14) (2d2 e'1)3 x [_J = [ ]
e
a) 8e2 b) 8e-3 c) 8e'l d) 8e+
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